CSE 311: Foundations of Computing |

QuickCheck: Sets Solutions (due Thursday, October 16)

0. Sets All Folks!
Prove AN (BUC) = (ANB)U(ANC). Note that while a Venn Diagram is useful, it is not a proof.

Solution:

AN(BUC)={z : z€¢ An(BUC)} [Set Comprehension]
={r :z€ ANz € BUC} [Definition of N]
={zx :z€cAN(zeBVzel)} [Definition of U]
={zr : (xr€ ANz eB)V(rec ANz € C)} [Distributivity]
={z : (x€ ANB)V(xec ANnC)} [Definition of N]
={r :z€(ANB)U(ANC)} [Definition of U]
=(ANB)U(ANCQC) [Set Comprehension]



